AREBEURHOARTICET SFERITOVT (—HHEFALL)

T E S % 1) OA LAEFEEEMNM 1 EENERIEZOMIE
I = 5 B BEREMNE2 -4 —3FH

I = & 3l BE—AI=H

I £ # = NEERIEZT DTS

I = #H M SMxTE7HA18B~5M2F2A14H

BMESMER

FEXS  2E-AXI=E

ZFfk: CXIED
ZHOBEFARY BRI R—T50=05
* i ARIEBAETAXHB2—2—6
= AN B 5 2021001045146
Z ¥ & A SMTE7H18H
2 ¥ £ # 73, 810, 000M (FirA#H)

¥ E

)

iR EEE M

H
i % 74, 743, 2190 (FBrH
% 68, 340, 072H (FiAH

)

A #l 7N i

sl A A %= = & AH&£%E (B H . fHRikE) s =
£ 1 B |% 2 B|% 3 [H

1 XTI R—T5o=2) 67,100,000 EHLE

2 XLV ER iR

3 [MXEuEEESR iR

4 | EHNhEE iR

Mabhtsh  ERMBER EME 1N F1REEFMETEE

HY LtEEEHEESEE it —x
TEL 048—600—1207 (B4¥ILAY)




